DFSEE FEIIL—THR—IERIRERR

BB BRYE F BE
E RN 48,000 24,000 x 2 A
k?oﬁ;c i‘zg RE#L 0 H14
FEEBEREAH 12,000 (3,500 /B RS x 1B5RE)+(1,250 /3043 x 1B5RE) X 2N
B 48,000 24,000/ x 2 A
26< REML 14,040 3510 x 2 A x 2@ (ABIEEDH) =>REHITIA H30
FERERETH 0
E RN 48,000 9,000/ x 4 A, 12,000/ x 1A
CCD REHL 0 H16
FEEREEH 0
FRER AL 24,000 24,000/ x 1 A
:EJZZSTA:T_E??E% REHAL 7,020 3510 x 2 A x 1B (ABAEEDH) >R BB 2A H18
FEEREAH 0
LR 48,000 24,000/ x 2A
FAIEEOS HREHIL 0 H17
FEEREEH 0
FRER AL 48,000 24,000/ x 2 A
BREY—I)L EH fRE AL 0 H14
FEERETH 0
LR 48,000 24,000/ x 2A
BEIA—FL-DELD REHL 0 H28
FEERETH 0
4% &t 7
H AR BRER AL 312,000
REHIL 21,060 345,060
FEERETH 12,000




FEITIN—THR—EFE BHRIIL—TOEHB

EE

14

15

16

17

18

19

20

21

22

23

24

25

26

217

28

29

30

0N

XEHMAFEICBFEDOHLHT IL—TERL

EXBAA



